Signal description

CH1 : +3.3VD 3.3V power supply (Power supply to VCCB)
CH2 : +1.8VD_CYC 1.8V power supply (Power supply to VCCA)
CH3 : ERAYO_TXEN_X_J Buffer (SN74AVC8T245) input signal.

CH4 : ERAYO_TXEN_X Buffer (SN74AVC8T245) output signal.

Question.
The output signal has a step-like waveform.
Could you please comment on the cause?

-10.0 ms -6.00 ms -2 s 05 4.00ms 6.00 ms
™M 2 M. ma

Markers

Marker av/AX

417.684 ps
785.031 ps 367.346929 us 27222222 kHz
1.46530 ms 2i8
1.53877 ms = = 73.4693859 us 13.611111 kHz

measuring point

B JF.__W ck

e e e e

5 vCCa vOoCE 2
: _ = DIF VCOOE_1
3
b T Al oE o o o
i~ 4 4 _ o 1 33044 R1S2E o i

L R T = Az B1 o :-:»r-'.,\"f}{:"fr:.*sz- > gpAY0 CSTEN X 2.
i | =I T = A3 BZ = AN ERAYD TKEN X

T - T = Al B3 = e v"-.f\, T = CHATL TRD :
| | | 1 ri 1d EEI R1£31 — =
- ! ! 1 g ol B A et M 338 "‘A.\"R 3] e BEREL TN R
7 T = .1 BE e 3:»1:3‘,.1"*"-'1'-: Ex > ERAYO TXD 2:

s T ' ' L L T = n7 BE = == ’\,r-,,", == T ERA¥1 TXEN X
I I 1 1 - o 15 EET) R1634
5 = ne BT = ,-"',-"‘ iy T ¢ xz i

' | | | | T v o 1 14 33R 2 R1c3s o

| —L=| i | e = = GND 1 BE g -..r'\.,"\; L > c x2

| :];‘3] et :é | T e = GND 2 GND 3 =

D = Sy S s = - - -

ot j“r e 1_-.*- I_;g- sy -:‘r:-'? SHTAAVCETZASPWR é_n'":\

IEr_L._"E_"E—“E“' |

e I il = ol ol i

| Bkt 3 ekt 3 GhH 3 LRY | oD i —-:\";P

| = = E = |

I g 2 B g I



